Y —

7= miiEA

M
AF. ERFRFERN.
FEHRMEI T EN,

g
RAZeIAE,
ER, XRERZFARMBEECLE,

K
H J
| ]
t |
! " |
] | e
' I L]
!\\i | E @\ =2
##E 2x W*g
msigie
A
E
s . ?ﬁ“ﬁﬁf%ﬁmﬁ
D)y [ e
I LI

B
F
—
;@
s
|
|
H
[T
|

= s

© norelem www.norelem.com



04575 TE*X &

F=3k#h

A B/ CDEF G H J/ K L |M N

N

’ﬁiﬁf}iﬁ

04575-080400 40|50 40 6 |35(10| 53 |12 21|85 32| 62,5 M8 x 35 M4x10 15000 25
04575-100500 50|65 50|25|8 (45|12 71 |16 27| 11 (40| 74 M10 x 40 M4x12 27000 50
04575-120600 60|70 60|30|10|50/|15 8 20 31| 13 |48 A M12 x 50 M5x15 38000 90
04575-160800 80|90 80|40 |15|/65|20| 10,2 |25 39| 17 |64 | 115 M16 x 60 M6x20 46000 130

© norelem www.norelem.com



